Times Tables Test 6

1 2 3. 4
Calculate:

5. 9x5= 11. 36+ 4 =

6. 7x7= 12. 66 + 6 =

7. 6x9= 13. 72+9 =

8 5x10-= 14, 24 + 2 =

9. 5x09= 15. 110+ 10 =
10. 8x 12 = 16. 35 +5 =

Complete these calculations

17. 9 = =90 18. 18+ =3

19. Cinema tickets cost £6 each. How much will 7 cinema
tickets cost?

20. A bucket can hold 7 litres of water. How many buckets of
water are needed to fill a paddling pool that holds 63 litres?




Times Tables Test 7

1 2 3. 4
Calculate:

5. 2x 8= M. 70 +10 =

6. 9x5= 12. 35+5 =

1 8x6= 13. 32+8+=

8. 9x4= 14, 66+ 6=

9. 10x6= 15. 108 + 9 =

10. 12x7-= 16. 18+ 2 =

Complete these calculations

17. 8x =56 18. 27+ =9

19. There is space for 5 people in each car. How many cars will
be needed to take 55 people?

20. How many legs do 7 spiders have altogether?




